DM52D 714! Fot=Ed
ME Rzy +2 | s REy =g

1 [POWER SUPPLY CABLE (KR-1.0x2Cx3M-HO7RNF) 1 49 |[SOCKET CAP SCREW (M5x12xP0.8) 1

3 |CORD ARMOR 1 52 |O-RING (220x3) 1

4 |CABLE CLIP 1 53 |GEAR SELECTOR (MATTE BLACK) 1

5 [PANHEAD TAPPING SCREW-B (M4x14) 2 54 |SPRING (20.6xJ3.8x@5x11Tx35L) 1

6 [SWITCH (110V&220V) 1 55 |RELEASE PIN 1

8 [ELECTRONICS UNIT (220V) 1 56 |TORX PANHEAD TAPPING SCREW-B-W/WASHER (| 4

9 [D-HANDLE HALF-RIGHT (BLACK) 1 57 |OIL SEAL (@27x@42x7) 1
10 |D-HANDLE HALF-LEFT (BLACK) 1 59 |INTERNAL CIRCLIP (1S28) 1
11 |PANHEAD TAPPING SCREW-B (M4x25) 7 60 |BALL BEARING (60/28) 1
12 |PANHEAD TAPPING SCREW-B (M4x35) 3 61 |SPRING (21.2x228x@30.4x7Tx40L) 1
13 |TORX PANHEAD TAPPING SCREW-C (M5x20) 4 62 |IMPACT SELECTOR COLLAR 1
14 |PANHEAD TAPPING SCREW-B (M4x8) 4 63 |ENGAGEMENT COLLAR 1
15 |BRUSH SPRING (0.4x4x3T) 2 64 |PARALLEL KEY (5x5x45) 1
16 | CARBON BRUSH HOLDER (7x17) 2 66 |INTERNAL CIRCLIP (R-52) 1
17 |INSULATION PLATE (10x38x1) 2 68 |HANDLE CLAMP (SILVER) 1
19 |PANHEAD MACHINE SCREW (M4x6xP0.7) 3 71 |SIDE HANDLE SHAFT (M12xP1.75/M12xP1.75) 1
20 |SPIRIT LEVEL (10x10x29) 1 72 |PANHEAD MACHINE SCREW-W/WASHER (M4x16xH 4
21 [MOTOR HOUSING (ORANGE-021C) 1 78 |PLUG 1
23 |PANHEAD TAPPING SCREW-A (3/16"x3") 2 79 |CLUTCH DISC SET 1
24 |FAN SHROUD (BLACK) 1 80 |O-RING (@32x1.5) 1
25 |BALL BEARING (6200) 1 82 |SELECTOR DISC 1
26 |ARMATURE (220V-81x45.8x60) 1 83 |SPINDLE (M18xP2.5-191.5MM) 1
27 |BALL BEARING (6201) 1 85 |FEMALE SPADE TERMINAL(BLUE) 1
31 |GASKET 1 86 |HAND KNOB 1
32 [BALL BEARING (608) 1 87 [HEX BOLT (M6x60xP1.0) 1
33 |CLUTCH NUT (M10xP1.25x8.1T) 1 89 |BUSHING (912x@218x4.2) 1
35 |PRESSURE DISC (12.1x@28x2.65) 1 90 |CARRY CASE (BLACK) 1
37 |INPUT GEAR (M1.0x34T) 1 91 |FRONT HANDLE (M12xP1.75) 1
40 [INPUT SHAFT (DP20x21TxM1.25x14T) 1 92 |GEAR PLATE (MATTE SILVER) 1
41 INEEDLE BEARING (HK 0810) 1 92-2|CAM PLATE (A) 1
42 INEEDLE BEARING (HK 1010) 1 93 |CAM PLATE (B) 1
44 |SPRING (D1.1x@17x@19.2x3.5Tx15L) 1 95 |STATOR (220V-81x45.6x60) 1
47 |SLIDER GEAR-AB (DP20x32TxM1.25x41T) 1 96 |CARBON BRUSH (7x17x19)(220V) 2

48

GEAR HOUSING (MATTE BLACK)




